MATHS CORRECTIONS - 5™ Class
TOPIC A — The Circle

You were asked to draw circles with radius of 1cm, 3cm and 5cm and circles with diameter of 1cm
3cm and Scm. Then you were asked to try calculating the circumference and the area. Check this

table for the answers:

Radius Diameter Pi Circumference Area
2 R T R2
lcm 2c¢m 3.14 6.28 cm 3.14 cm 2
3cm 6cm 3.14 18.84cm | 28.26 cm
Scm 10cm 3.14 31.4 cm 78.5 cm 2
0.5cm lcm 3.14 3.14 cm 0.785 cm 2
1.5cm 3cm 3.14 9.42 ¢cm 7.065 cm 2
2.5cm Scm 3.14 157 cm | 19.625 cm 2

Question 1

TOPIC B - Problem Solving
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a) 73,954 =7 ten thousands + 3 thousands + 9 hundreds + 5 tens + 4 units
b) 54,756 =5 ten thousands + 4 thousands + 7 hundreds + 5 tens + 6 units
¢) 93,378 =9 ten thousands + 3 thousands + 3 hundreds + 7 tens + 8 units
d) 74,771 =7 ten thousands + 4 thousands + 7 hundreds + 7 tens + 1 unit
e) 17,137 =1 ten thousand + 7 thousands + 1 hundred + 3 tens + 7 units

f) 45,354 = 4 ten thousands + 5 thousands + 3 hundreds + 5 tens + 4 units

Question 2

a) 40,000 forty thousand

b) 90 ninety

¢) 5,000 five thousand

d) 9,300 nine thousand three hundred

e) 110 one hundred and ten

f) 27,000 twenty seven thousand

g) 35 thirty five

h) 0 zero

i) 9,130 nine thousand one hundred and thirty




Question 3
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Question 4 Question 5
Fertiliser Spreader Renault = € 60,000
Cattle Trailer Massey Ferguson = € 60,000
Slurry Tanker Landini Stockman = € 72,000
Silage Trailer New Holland = € 80,000
Round Baler John Deere = € 59,000
Bale Wrapper Lamborghini = € 84,000
John Deere
Massey Ferguson
Renault
Landini Stockman
New Holland
Lamborghini
Question 6
ROUNDING | Fertiliser| Round Bale Silage Slurry Cattle
Spreader | Baler Wrapper Trailer Tanker Trailer
Nearest € 100 | € 500 € 8300 € 9400 € 7800 € 5600 € 4700
Nearest € 10 €470 € 8270 € 9440 € 7820 €5510 € 4670

Question 7

Question 8

a) € 72,974
b) € 88,781
c) €98,501

He will need to write a cheque for
€1,570.75
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Question 1

a) 36g e) 25¢g 1) 9g

b) 28¢g f) l4g 7)) 12g

c) 3lg g) 29¢g k) 8¢

d) 26g h) 21g 1) 25¢
Question 2

PETE DAVE TOTAL

WK 1 110km 100km 210km
WK 2 150km 120km 270km
WK 3 125km 135km 260km
WK 4 190km 200km 390km
WK 5 100km 80km 180km
TOTAL 675km 635km 1,310km

a) Total distance travelled was 1,310km

b) Pete travelled 675km and Dave travelled 635km
¢) BELOW
d) Average distance travelled was 135km for Pete and 127km for Dave

DISTANCE TRAVELLED IN KM BY BRIGHT STAR DRIVERS

W1 WK 2 Wi 3 Wi 4 WK &

[ Pete
. Dave




(2)

Question 3

(b)

(©)

Delivery 1 =€19.50
Delivery 2 =€27.00
Delivery 3 =€26.00
Delivery 4 = €26.00

Delivery 1 = €30.50
Delivery 2 = €23.00
Delivery 3 = €24.00
Delivery 4 = €24.00

Delivery 1 = 3 slices
Delivery 2 = 5.5 slices
Delivery 3 = 13 slices
Delivery 4 =9 slices
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Question 1 Question 2 Question 3 Question 4
a) 0.2 a) 9/1() a) Obtuse, a) l/3
b) Y b)0.1 reflex a) '%6.0.75
¢) 0.542 ¢) €10.00 b) Straight b) 0.579
d) 48boysand | d) €14.00 c) Acute, c) 2.75km and
32 girls reflex 31.5km
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Question 1 Question 2 Question 3 Question 4
Joe =08:00 Joe = 50hr Joe = 4hr 10min Joe =8.3%
Anita = 12:00 Anita = 50hr Anita = 4hr 10min Anita = 8.3%
Linda = 16:00 Linda = 30hr Linda=2 hr 30min |Linda=8.3%
Enda = 09:00 Enda = 18hr Enda=1hr30min |Enda=8.3%
James = 14:00 James = 16hr James =1 hr 20min | James = 8.3%
Question 5 Question 6
Apples — Star Store a) €2.50
Toilet Rolls — Star Store b) €6.25
Blackcurrant — Star Store c) €12.80
Sausages — Central Store d) €32.00
e) €0.60
f) €3.60
g) €1.35

h) €0.675 (we assume shops round to
the nearest cent so the answer is

€0.68
i) €13.50




Question 7

ITEM ORIGINAL % PRICE NEW PRICE
PRICE DECREASE | DECREASE
SANDWICH €2.40 15% 36¢ €2.04
FRIES €1.90 20% 38c €1.52
DRUMSTICK €0.90 25% 22.5¢ €0.675 (68c¢)
WRAP €3.60 5% 18¢c €3.42
QUICHE €4.30 50% €2.15 €2.15
PANINI €4.00 75% €3.00 €1.00

TOPIC C - NUMBER RULES
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A

B

C
la.Add 2 1b. Add 15 2a. Subtract 12 2b. Add 1.3
3a.Add 1.09 3b. Add 2, add 2, 4a. Add 4 then add |4b. Subtract 13

add 1

6

5a. Subtract 2.5

5b. Subtract 0.08

6a. Subtract 2,
Subtract 3

6b. Subtract 4,
subtract 8




1 2 3 4 5
a) x2 a) x1.5 a) Add 3, then a) Add a) First letter
b) x5 b) + 2 5, then 7 then previous 2 starting at Z
9 numberrs to and going
b) Add 2, then 3 find the next back through
then 1 number alphabet,
b) Add ' number
starting at 1
and going up
in 1s and
second letter
starting at a
and going up
through
alphabet
b) Subtract 5
CHALLENGE YOURSELF
16 3 2 13
5 10 11 8
9 6 7 12
4 15 14 1
12 1 8 13
7 14 11 2
9 4 5 16
6 15 10 3
6 2
1 9
8 4
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A
1 2 3 4 5
a) 13 a) 78 a) 20 a) 43, 15 a) 7,67
b) 56,20 b) 20, 6 b) 54,36 b) 81, 1 b) 240,2
c)-2,6 c) 40, 108 c) 11,27 c) 38, 18 c) 56,29
B
1 2 3 4 5
a) 35 a) 40 a) 350 a) 88 a) True
b) 35 b) 35 b) 504 b) 144 b) 29
c) 52 c) 32 c) 120 c) 440 c) 48
C
1 2 3 4 5
a) 22 a) 5 a) 9 a)9 a) 164
b) 400 b) 84 b) 32 b) 23 b) 1440
c) 34 c)5 c)5 c) 65 c) 26
D
True

True




